Name:

Date:

Teacher:

Class:

Multiplication 502

What did one penny say to the other?
cents."

Multiply these numbers.

"Together we make

1L 11x9= 26. 11 x6 = 5. 11 x7= 6. 11 x10 =
2. 11 x8= 271. 11 x4 = 52. 11 x3= 711 x2=
3 11x5= 8. 11 x1= 53 11 x 11 = 7811 x 12 =
411 x10= 29. 11 x5= . 11 x1-= 911 x7=
5 11 x8= 0. 11 x7-= 5. 11 x3= 80. 11 x1-=
6. 11 x2= 3L 11 x9= %6. 11 x3= 8l. 11 x6 =
7. 11x5= 3. 11 x 10 = 5. 11 x3 = 82. 11 x12 =
8 11x2= @ 11x1= % 11x8= 8 ]1x3=
% 11x10= 3. 11 x12= 8. 11x4= 84 11 x8=
10 11x6= 35 11 x11 = 60. 11 x7= 8. 11 x 10 =
1 11x9= 36 11 x4 = 61. 11 x 12 = 86. 11 x 3=
12 11 x2= 3. 11 x4= 62. 11 x1= 87. 11 x5=
13 11x1= 38 11 x 10 = 63. 11 x 8= 8. 11 x1-=
4. 11 x9= 39. 11 x7= 64. 11 x 6 = 89. 11 x5 =
15 11x4= 0 11x1= 6 11x6= 9 11x8=
16 11 x9= 4. 11 x2 = 66. 11 x 4 = 91. 11 x6 =
11 x1= 42. 11 x 10 = 67. 11 x11 = 92. 11 x5 =
18 11x1= 43 11 x 10 = 68. 11 x6 = 3. 11x7=
9. 11 x4 = “ 11x12= 8 11x3= % 11x4=
20. 11 x10 = 45. 11 x 3 = 70. 11 x9= 9. 11 x5=
2L 11 x12 = 4. 11 x 2= 111 x 11 = %. 11 x 11 =
22 11x1= 47. 11 x5 = 2. 11 x8= 97. 11 x9=
2. 11 x5= 48 11 x7= 311 x1= %8 11 x4-=
24. 11 x6 = 49. 11 x6 = 74 11 x2 = 9. 11 x8=
25 11x2= 50. 11 x 11 = 5. 11 x3 = 100. 11 x 12 =
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Answer Key

Date:

Teacher:

Class:

Multiplication 502

cents."

What did one penny say to the other?

Multiply these numbers.

"Together we make

L 11x9=99 2 11x6=66 S5 11x7=77 7 11x10= 110
2 11x8=88 27 11x4=44 52 11x3=33 77 11x2=22
3. 11x5=55 28 11x1=11 5 11x11=121 7 11x12= 132
4 11x10= 110 2 11x5=55 5 11x1=11 7 11x7=77
5 11x8=88 30 11x7=77 5% 11x3=33 8 11x1=11
6. 11x2= 22 3. 11 x9= 99 %6. 11 x3= 33 8. 11 x6 = 66
7 11x5=55 3 11x10= 110 5 11 x3=33 8 11x12= 132
8 11x2=22 3 11x1=11 5 11x8=83 8 11x3= 33
% 11 x10= 110 34 11x12=132 5 11x4=44 8 11x8= 88
0. 11x6=66 35 11x11= 121 6 11x7=77 8 11x10= 110
M 11x9=99 36 11x4=44 6. 11x12= 132 8 11 x3= 33
1211 x2=22 37 11x4=44 6 11x1=11 8- 11x5=55
13 11x1=11 38 11x10= 110 % 11x8=88 8 11x1= 11
4. 11x9=99 3 11x7=77 O 11x6=66 8 11x5= 55
15 11x4=44 40 11x1=11 6 11x6=66 9 11x8= 88
1611 x9=99 4. 11x2=22 6 11x4=44 9 11x6= 66
711 x1=11 42 171 x10= 110 o 11 x11= 121 9 11 x5= 55
18 11x1=11 4 11x10= 110 6 11x6=66 9 11x7= 77
19 11x4=44 4 11 x12= 132 6 11x3=33 % 11x4=44
20 11 x10= 110 4 11 x3=33 7 11x9=99 9% 11x5= 55
2l 11 x12= 132 46 11 x2=22 7. 11x11= 121 % 11 x11= 121
22 11x1=11 4 11x5=55 72 11x8=88 9 11x9= 99
2. 11x5=55 48 11x7=77 7 11x1=11 9% 11x4= 44
4. 11x6=66 4 11x6=66 4 11x2=22 9 11x8= 88
2 11x2=22 5. 11 x11=121 7 11x3=33 1200 11 x 12 = 132
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